1. 4a*(x-5) - 2a(5-x) & AFEF5HH?

@ 2a(x+5)(2a-1) @ 2a(x-5)(a+1)
® 2a(x-5)(2a+1) @ 2a(5-x)(2a+1)

® 2a(x-5)(1-a)



2.  4a® - 12ab + 9b* = Q14-E 3] 5}H?
@ (2a+ b)(2a - 9b) @ (2a+ 3b)?
® (a+b)(4a—9b) @ (2a-3b)?

® (4a+ b)(a+9b)
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4. (3x+2)(2x-5) 5 AMF Aoz &

@ 6x2-11x+10 @ 6x*-11x-7

® 6x%2+11x-10 @ 6x2-16x-10

® 6x2-11x-10
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Q@ aly+x) © a(x-y)(a-b)
© a(a-2b) ® x(a-2b)
@ x-y @ (x-y)(a-2b)
® 0.6, ® 06,0 ® ©.e.6
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O 24 @ -24
@ -24+2 ® 242



@ (a+8)(a-38) @ (a+32)(a-2)
® (a+32)(a-32) @ (a+8)(a+8)

® (a+16)(a—4)



® 9x-Ty @ 3x+9y ® 3x+ Ty

@ 9x + 49y ® 3x+ 49y
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@ 2x2 - Tx+3 @ 2% — 5x -3
@ 2x° - 5x+2

® 5x* - 16x+3
® -2x* +9x-9
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@ x*-b5x-6=(x-2)(x-3)
@ 12x - 4x? = 4x(x - 3)

@ x2-14x+49=(x-17)?

@ 3x* +5x-2=(x-2)(3x+1)

® 4a® —9b* = (2a — 3b)(2a + 3b)
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® x+3

@ 2x-3

® x-1

® x-3

@ 2x+3
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6x> —8x+m

D 2x-1 @ 2x+1

@ 3x+1 © 4x-1

@ 3x-1
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b A1S vl Q14Re] g 2L

Aly-1)+(1-y)

O (x+y)(x-y)(x+1) @ (x+1D)(x-y)-1)
® (x+1)y-1(x+y) @ (x+Dx-Hr-1)
® x2(y-1)




15. (2x+1)(2x-1)-2(2x—1)>E A/MNSIH Ax® + Bx + C L 1, 24 +
B+ C 9 327

@® -5 @ -4 ® -3 @ -2 ® -1



16.

(2x=5)(x=3) = (3x+2)(x - 3) & dg=ofictH?

O (x+3)(x+7) @ —(x+3)(x+7
® —(x=-3)(x+7) @ —(x-3)(x=17)
® (x=3)(x+7)
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19. o5 AelA A+ B+C 9] 32?
(x+A) (Bx+3) =2x2+Cx—12

O -14 @ 0 ®7



20. F oA x? +ax -3, 3x2 +2x + b 2 FF5A AT x+3 & o,
Ta+b 9] 327

® -7 @ -5 ® -3 @ -1 ® 0
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@ 15

® 20
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22, oA ax? -Tx+b7F(2x-1) & (3x-2) E AFE 7 W, ab 9
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@ 4 @ 7 ® 12 @ 15 ® 18
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@1 @ 6 ® 7 @ 9 ® 10



24. ¥ 4ax-20 9 A5 F ST x+4 L W, a O FE27

O -2 @ -1 ® 0 @1 ® 2



25. 75x2-12y? = a(bx+cy)(bx—cy) @ W, AT a, b, c & Ea+b+c
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® 10 @ 15 ® 20 @ 26 ® 28



